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dusa
dusa [FRIEND] wr. du10-us2-sa; du10-sa; du-us2-sa; du2-us2-sa "friend, companion" 
Akk. ru'u
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[1] e2-dub-ba-a

[2] e2-dub-ba
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edubba'a
edubba'a [SCRIBAL SCHOOL] wr. e2-dub-ba-a; e2-dub-ba "scribal school" Akk. ��������	
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dub�al [SCRIBE] wr. dub-*al2 "a scribe or scribe's assistant
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dubsar [SCRIBE] wr. dub-sar "scribe" Akk. ���
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dubsargal [SCRIBE] wr. dub-sar-gal; dub-sar "senior scribe
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dubsartur [SCRIBE] wr. dub-sar-tur "junior scribe"�
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[1] dub-sar
+ -0 (11292x/100%); -ra (13x/0%); -re2 (9x/0%); -re (6x/0%).

3500 3000 2500 2000 1500 1000 (no date)
[1] 253 10884 177 2
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eme�ir [SUMERIAN] (32x: Ur III, Old Babylonian) wr. eme-gi; eme-*ir15 "the Sumerian 
language" Akk. šumeritum; šumerû

[1] eme-gi

[2] eme-�ir15 (eme-gi7)
+ -0 (24x/75%); -ra (8x/25%).

3500 3000 2500 2000 1500 1000 (no date)



[1] 21 2
[2] 1 8

7 distinct forms attested; click to view forms table.
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eme�ir [SUMERIAN] wr. eme-gi; eme-*ir15 "the Sumerian language" Akk. šumeritum; šumerû
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umbisa� [SCRIBE] wr. umbisa*; umbisa*2; ubišaga "scribe; scholar" Akk. tupšarru #�%����	��=
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(1183 instances)

dub [TABLET] (1183x: ED IIIb, Ebla, Old Akkadian, Lagash II, Ur III, Early Old Babylonian, Old 
Babylonian) wr. dub "tablet" Akk. �����



See dub bala[go over an account].

[1] dub
+ -0 (1183x/100%).

3500 3000 2500 2000 1500 1000 (no date)
[1] 143 983 54

19 distinct forms attested; click to view forms table.
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(277 instances)

sar [WRITE] (277x: ED IIIb, Old Akkadian, Lagash II, Ur III, Early Old Babylonian, Old 
Babylonian) wr. sar; sarar "to write" Akk. 
��
��

[1] sar

[2] sarar

+ -0 (167x/60%); -ra (85x/31%); -re (25x/9%).
3500 3000 2500 2000 1500 1000 (no date)

[1] 47 165 46



[2] 1

90 distinct forms attested; click to view forms table.��
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(11320 instances)

dubsar [SCRIBE] (11320x: ED IIIa, ED IIIb, Ebla, Old Akkadian, Lagash II, Ur III, Early Old 
Babylonian, Old Babylonian, uncertain, unknown) wr. dub-sar "scribe" Akk. ���
����

[1] dub-sar
+ -0 (11292x/100%); -ra (13x/0%); -re2 (9x/0%); -re (6x/0%).

3500 3000 2500 2000 1500 1000 (no date)
[1] 253 10884 177 2

26 distinct forms attested; click to view forms table.
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edubba'a

edubba'a [SCRIBAL SCHOOL] wr. e2-dub-ba-a; e2-dub-ba "scribal school" Akk. ��������	

��

8��*=�QA	������I�	~�I���������8~��=�	%������	
���	
�������;%��
��

�*=aI��	~�I���������=������I8~��I=�	%����0@�%��#&�&�"�������"��9#�&�E������"��*@;%������#!��=������"��5�(+4�%�&5�-�-��
����
�B>'��#���/=�'�&0+'��������$������"��*=a�5�(+4�%���=�	#!I��	~��I���]�>'��)*+,�����V�A	��������@�%I�E	
I��



If�+;
�I���&Y���1���8��*=�QA	���������
���&.��%����'��K4��������U��$+;������>0�6<	#8�6��M#6%�"����$��U0�� ������+;�1��
&��$�/*M���A��������1�%�4��?�%������$�n�p����# ����	��"#�0�0�
%�-����������/;��34�N��QA	������n�p��I� ��&	���	�,%�
����0����"%�I-���;������2]�����$���*=����8��(��4��?�%����0@�%������[=�	%��
������O�1�����5��%���#-��	��&@��8��(��

�M#�+6�������6<	#X����5���#-�2��

��������I��~��I�I�8~��IBh��=�	%�0@�%I�E	
�I�#&�&T��

��I����b�I���������

bar [BURN] wr. bar7 "to burn; to fire (pottery)" Akk. 
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#izi [FIRE] wr. izi; izi2 "fire; brazier" Akk. 	����; pendû
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fire-box
ni�tab [FIRE-BOX] wr. ni*2-tab "fire-box"
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bur [GLOW] wr. bur2; bu7 "light; to glow, shine" Akk. 
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izi dab [LIGHT] wr. izi dab5 "to light, set alight"
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kur [BURN] wr. kur "to burn, light up" Akk. 
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lu [FLARE] wr. lu9 "to flare up" Akk. 
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mul [SHINE] wr. mul; mul2; mul4 "star; to shine, radiate (light); arrow; to radiate (branches)" 

Akk. kakkabu; mulmullu; 
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zalag [SHINE] wr. zalag; zalag2; su-lu-ug; sulug "(to be) pure; (fire) light; (to be) bright, to shine" 

Akk. ebbu; 
�����; nûru
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sig [BURN] wr. sig3 "to burn (of digestion)" Akk. ������
še� [COOK] wr. še*6 "to cook; to dry a field; to fire (pottery)" Akk. ������
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še� [RAIN] (70x: Ur III, Old Babylonian) wr. še*3; še*x(|IM.A.A|); še*x(|IM.A.AN|) "to (fall as) 
dew; to rain; rain" Akk. ���
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šeg [FROST] (11x: ED IIIb, Lagash II, Ur III, Old Babylonian) wr. šeg9; šeg4 "snow; sleet; cold 
weather; frost, ice; burning, incineration; chills, shivers" Akk. šalgu; šurpu; šuruppû; 
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sa� [KING] wr. sa*4 "king" Akk. šarru
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ug [LIGHT] wr. ug; ug2 "light" Akk. 
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kar [BLOW] wr. kar2-kar2; kar2 "to blow; to light up, shine; to rise" Akk. 
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sa�gul [LIGHTNING] wr. sag-kul; sa*-gul "globe-lightning" Akk. sankullu
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gug [BRIGHT] wr. gug "(to be) bright"
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kug
kug [METAL] wr. kug "metal, silver; (to be) bright, shiny"
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kugbabbar [SILVER] wr. kug-babbar; kug-babbar2 "silver" Akk. kaspu
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kun [SHINE] wr. kun2 "to shine brightly" Akk. nabâtu
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sky
an [SKY] wr. an "sky, heaven; upper; crown (of a tree)" Akk. šamû

$����D$��

�
�#��6��3$������$01�����$�;�N0��Y��*N��Y;���:�$����:�����.�3!��1����,U��$��96��$��$6��5\�$]����^���
��+�����������_:��	7�R���.�	��9��P�*7�P�.�*���*	�N7��9��?3��+����`����g����C4V.�h2B������.�j�C.�

��.	����7��*@��

gira [CONCEALMENT] wr. gira "concealment; sky, heaven" Akk. puzru; šamû
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�ešhe [FIRMAMENT] wr. *eš-he2; *eš-he "firmament, vault of the sky" Akk. šupuk šamê
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ulhe [FIRMAMENT] wr. ul4-he2 "firmament, vault of the sky" Akk. šupuk šamê
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un [HIGH] wr. un3 "to arise; sky; (to be) high" Akk. elû; šamû; šaqû
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utah [HEAVEN] wr. utah "heaven" Akk. šamû
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zigara [HEAVENS] wr. zigara "the heavens" Akk. šamû
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zikum [HEAVENS] wr. zikum "the heavens" Akk. šamû
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heaven
an [SKY] wr. an "sky, heaven; upper; crown (of a tree)" Akk. šamû
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anbad [HEIGHTS] wr. an-bad3 "heaven's heights"

!���(��!��

$%��=�����!����(��!Pg��!���P�µ��3���!���������	�#���)���	���(�+	�g�������	�#�K��MP!���(�!�Q!��!�|!����!Pg�����
��®Z!���!Pg��#����=��4�8���3������$����Z������:�6��!�����!Pg��	�K=��\�#��<)���@��=!�t6���¿��
�	=��!Pg��<3(����	��	����!�����=�!�#�����!=}��!��	�4z��#�!��$5U���
=}��!KPg����Z����$5U�����=��0J���#��:�

���KPg�!�:��P���!�=���	��<)�!=���!Pg������P����4z���)�!�x�=�!Q!��£��P����!�t$±��	!=��Ë����!KPg��@��
!6�x�<�J��!�	=��:��(!��Y$5Z=��@�x�Q!(��?7�@��!��P��!�	=��:��(�<�J���=���	�t$±��	����#��!����=�!

�<)�:	�@�!��K=Ì�!����K�P����K�Y$5x��=Ì�Q������t5v����=K1ÌJ��=ÌW�$�Q��#��t5v����=����*�$5~������<)���=!����Q
�����=�Q��K=Ì�!=����=$)�K�6���#����

$%��=�����!�	��(��!����+	�g��	���(���

anbar [SIDE] wr. an-bar "side of heaven"
bar [OUTSIDE] (2579x: ED IIIa, ED IIIb, Ebla, Old Akkadian, Lagash II, Ur III, Early Old Babylonian, Old 
Babylonian, unknown) wr. bar; ba-ra; bala; bur "outside, (other) side; behind; outer form, outer; 
fleece; outsider, strange; back, shoulder; liver; because of; to set aside; to cut open, slit, split" 

Akk. ��������������; kawûm; ahû; warkatu; ������; ������; ������
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anki [UNIVERSE] wr. an-ki "the universe, heaven and earth"
ki
ki [PLACE] wr. ki "place; ground, earth, land; toward; underworld; land, country; lower, 
down below" Akk. ašru; ������; �
��; qaqqaru; šaplû
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ankišua [UNIVERSE] wr. an-ki-šu2-a "the extent of heaven and earth" Akk. �	�	��
�����������	
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anšag [HEAVEN] wr. an-šag4 "the interior of heaven" Akk. qereb šamê
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anšar [HEAVEN] wr. an-šar2 "the entirety of heaven" Akk. ?
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anzag [HORIZON] wr. an-zag "horizon, border of heaven"
zag [SIDE] wr. zag "arm; shoulder; side; border, boundary, district; limit; right side, the 
right" Akk. ahu; idu; imittu; ishu; �	���; �
��
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gira [CONCEALMENT] wr. gira "concealment; sky, heaven" Akk. puzru; šamû
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�ešhe [FIRMAMENT] wr. *eš-he2; *eš-he "firmament, vault of the sky" Akk. šupuk šamê
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ul [FIRMAMENT] wr. ul4; ul5 "vault of heaven, firmament" Akk. šupuk šamê
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ulhe [FIRMAMENT] wr. ul4-he2 "firmament, vault of the sky" Akk. šupuk šamê
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un [HIGH] wr. un3 "to arise; sky; (to be) high" Akk. elû; šamû; šaqû

!:�����!��

�KPg�����4�8��®Z�t�!���$���!����:�6�#5v=x���=8�Î¢��	�������

utah [HEAVEN] wr. utah "heaven" Akk. šamû
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zigara [HEAVENS] wr. zigara "the heavens" Akk. šamû
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zikum [HEAVENS] wr. zikum "the heavens" Akk. šamû
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sun
ud [SUN] wr. ud "day; heat; a fever; summer; sun" Akk. immu; ummedu; umšu; šamšu; 
���
urun [EXALTED] wr. urunx(EN); u18-ru; uru; uru15 "(to be) exalted; (to be) strong" 
Akk. dannu; šapsu; ����
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sun 
urun [EXALTED] wr. urunx(EN); u18-ru; uru; uru15 "(to be) exalted; (to be) strong" 
Akk. dannu; šapsu; ����

L�I���-



sun-
zig [RISE] wr. zig3 "to issue; to levy, raise, muster; to swell; to expend; to rise" Akk. dekû; 
���

�; tebû; ����
ziga [EXPENDITURE] wr. zi-ga "expenditure" Akk. ����

See a zig[raise], gaba zig[depart], gu zig[call], gu zig[lift the head], �eš zig[have an erection], sa� zig[raise], su 
zig[fear], šu zig[raise the hand].

zikura [EARTH] wr. zikura "earth" Akk. ������

tB�J�;�.�����;���:��

sun-disk
ašme [RADIANCE] wr. aš-me; aš-mezabar "radiance; sun-disk ornament" Akk. ������; 
šamšatu

aš [BOIL] wr. aš "a boil (on skin)" Akk. ���������
aš [FLOUR] wr. aš "bread; a type of flour" Akk. akalu; upumtu

sun-disk ornament
ašme [RADIANCE] wr. aš-me; aš-mezabar "radiance; sun-disk ornament" Akk. ������; 
šamšatu

sunburn 
šer [BRIGHT] wr. sir2; še-er "reddening, sunburn (?); (to be) bright; brilliance, ray" 
Akk. ���
��; šarûru; �	�	���
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sunburn
šer [BRIGHT] wr. sir2; še-er "reddening, sunburn (?); (to be) bright; brilliance, ray" 
Akk. n��
��; šarûru; �	�	���

sunrise
utu'e [SUNRISE] wr. utu-e3 "sunrise" Akk. ����
��
	

sunset
utušuš [SUNSET] wr. utu-šu2-uš; utu-šuš2 "sunset; the West" Akk. ereb šamši



yellow
nisig [GREENERY] wr. nisig "greenery, vegetable(s)" Akk. arqu
sissi [GREEN] wr. si12-si12; sissix(GI) "(to be) green-yellow, pale" Akk. arqu; ��
��
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sun-disk ornament
ašme [RADIANCE] wr. aš-me; aš-mezabar "radiance; sun-disk ornament" Akk. ������; 
šamšatu
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an [SKY] wr. an "sky, heaven; upper; crown (of a tree)" Akk. šamû
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kirimah
kirimah [GARDEN] wr. *eškiri6-mah“pleasure garden, park”
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ukiri [GARDEN] wr. u2-*eškiri6 "garden produce
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nukirik [GARDENER] wr. nu-kiri6; nu-*eškiri6; nu-*eškikiri6; lu2nu-kiri6 "gardener, horticulturalist" 

Akk. nukaribbu
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mah [GREAT] wr. mah; mah2“(to be) great” Akk. kabtu; �
��; rabû; ����
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abba [FATHER] wr. ab; ab-ba; abba2 "old (person); witness; father; elder; an official" Akk. abu;����
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Etymology

Abraham first appears as Abram in the book of Genesis until he is renamed by Yahweh in 
Genesis 17:5. The narrative indicates that abraham means “the father of a multitude" (Hebrew: 
�a�-ßàáâã�äåæçáT[5]. However, scholars do not accept the narrative's definition to be the 
etymology of Abraham because, though "ab-" means "father", "-hamon" is not the second 
element, and "-Raham" is not a word in Hebrew. It should be noted though, that 'rabim' is a 
Hebrew word meaning multitude. Johann Friedrich Karl Keil suggested there was once a word 
raham (éêëêì) in Hebrew, meaning "multitude", on analogy with the Arabic ruhâm which has this 
meaning, but no evidence that this word existed has been found;[6] another possiblity is that the 
first element should be abr-, which means "chief", but this yields a meaningless second element, 
"-aham". David Rohl suggests the name comes from the Akkadian "the father loves",[7] but 
scholars would prefer an origin based on Hebrew.
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ubara [PROTECTION] wr. ubara "divine protection" Akk. kidinnu
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abad
abad [SHELTER] wr. a2-bad3; an-bad "shelter" Akk. tabinu

bad [WALL] wr. bad3 "wall, fortification" Akk. ����

abad�al
abad�al [PROTECTIVE] wr. a2-bad-*al2 "protective"
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du [BUILD] wr. du3 "to build, make; to do, perform" Akk. banû; ���
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du [PLANT] wr. du3 "to plant; to fix upright, erect; to impregnate; to drive in, fix; a designation 
of grain" Akk. retû; ���
��
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du [HOLD] wr. du3 "to hold, keep in custody"
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zikru [NAME] wr. zi-ik-ru "name, mention" Akk. zikru
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ki tum [BURY] wr. ki tum2 "to bury" Akk. ������
šu gur [ROLL UP] wr. šu gur "to wipe off; to roll up" Akk. ���
��; ������
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e'urre [GRAVE] wr. eurre "grave" Akk. ������
kišur [GRAVE] wr. ki-šur2 "grave; hole" Akk. ������
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qubû
ilu [SONG] wr. i-lu "joyful song; lament" Akk. niûtu; qubû
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uru [LITTER] wr. uru12 "bedding place; litter; lair, dwelling; dung" Akk. ��
���; �����
uru [SEAT] wr. uru5 "seat, dwelling" Akk. šubtu
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gub
gub [BATHE] wr. gub2 "to bathe, wash oneself; (to be) pure" Akk. ���
��
gub [STAND] wr. gub "to stand; (to be) assigned (to a task)" Akk. izuzzu

�����°¤K?���t�Pg�����!��
��x�|������!=����<08��	=)�#�������P50)��	��!���/K#(*�:���!���!�/K
��U�:���!Pg��#���
��������=5Z��8�	������!�/K�	=��#Z�(�:��!��

�S!$;����/g��$��6�����3

=�����	��%5_��>�®Z���=�������`���	=��tv	���(=����

��=�����®Z�!����£���!Pg��#������+	�g��#���	=��tv	������!�=}�}8T�!=�8�V���6�����K�=���	��®Z�t��>��?��!�£���
�W�$Z���Q�	=��tv	�!����`��	�=��=�����®Z��	�!���£�����!�@�!���!Pg��!��¢��Í�U�!������)�!�£����Q�	����!��

Pg��@������!��Í�UKt5_�!K��!:�6�#56��(��Í�U�!����:�6�#5v=x���

bury
ki tum [BURY] wr. ki tum2 "to bury" Akk. ������
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šu gur [ROLL UP] wr. šu gur "to wipe off; to roll up" Akk. ���
��; ������

šu gur [WIPE] (18x: ED IIIb, Ur III, Old Babylonian) wr. šu gur; šu gur10 "to wipe clean; to 
erase" Akk. ���
��

(šu[hand] + gur[turn])
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guguru dug [TRIM] wr. gu2-gur5-ru dug4; gu2-gur5 dug4; gu2-gur5-ru-uš dug4 "to trim down" 

Akk. ������



guguru [TRIM] wr. gu2 guru5; gu2-guru5-gu2; |URU×GU|gu
2; gu2-gur5-ru; guru5-guru5; 

gu
2|URU×GU|gu

2 "to trim down" Akk. ������
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kimah [GRAVE] wr. ki-mah "grave; a cultic place" Akk. kimahhu
udug [DEMON] wr. dudug; u2-dug4; udug "a demon (of desert, mountain, sea, tomb); ~ 
figurine" Akk. utukku
unugal [TOMB] wr. unu-gal "tomb"

grave
e'urre [GRAVE] wr. eurre "grave" Akk. ������
irigal [UNDERWORLD] wr. irigal; iri-gal; urugal2 "earth, land; underworld; grave" 
Akk. ������; qabru
kimah [GRAVE] wr. ki-mah "grave; a cultic place" Akk. kimahhu
kišur [GRAVE] wr. ki-šur2 "grave; hole" Akk. ������
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gur [CIRCLE] wr. gur2 "loop, hoop, circle" Akk. kippatu; šumutu

gur [RIM] wr. *ešgur2 "(circular) rim" Akk. kippatu
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gur [REAP] wr. gurx(|ŠE.KIN|); gur10; gurx(|ŠE.KIN.KIN|) "to reap" Akk. �����
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gur [THICK] wr. gur4; gur14; gur13 "(to be) thick; (to be) big, to feel big" Akk. ebû; rabû; kabru
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Gairi(Avesta Pahlavisice) = Gabiri(Sm) = Givre-Gibre(Az-��������	
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gabiri [MOUNTAIN] wr. ga-bi-ri "mountain" Akk. šadû

[1] ga-bi-ri

1. mountain

Akk. šadû "mountain(s); a myth. locality corresponding to Sum. kur".
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kur [MOUNTAIN] wr. kur; kir5 "underworld; land, country; mountain(s); east; easterner; east 
wind" Akk. ������; �
��; šadû; šadû
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kurbad [MOUNTAIN TOP] wr. kur-bad3 "mountain top"
kuršag [MOUNTAIN MIDST] wr. kur-šag4 "center of the mountains"
kurur [MOUNTAIN BASE] wr. kur-ur2 "base of the mountains"
kurzag [MOUNTAIN BORDER] wr. kur-zag "mountain border"
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satu [MOUNTAIN] wr. sa-tu "mountain"

iš [MOUNTAIN] wr. iš "mountain(s)" Akk. šadû

gabiri [MOUNTAIN] wr. ga-bi-ri "mountain" Akk. Šadû
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kur [ENTER] wr. kur9; kurx(DU); kurx(LIL) "to enter" Akk. �����
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kasu
kasu [GOBLET] wr. gu2-zi; dugKU.ZI; duggu2-zi; dugka-a-su; dugKA.ZI "goblet; bowl" 
Akk. �
��
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qardu
gardu [SOLDIER] wr. gar3-du "soldier" Akk. qardu

   *****

Kuze= Küze = Kasa
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kasu = Gu-ze = ka-a-su
kasu [GOBLET] wr. gu2-zi; dugKU.ZI; duggu2-zi; dugka-a-su; dugKA.ZI "goblet; bowl" 
Akk. �
��
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kuzen
kuzen [GOLD?] wr. ku6-ze-en "gold?" Akk. ?
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kugsig
kugsig [GOLD] wr. kug-sig17 "gold" Akk. ���
��
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banda [CHILD] wr. lu2banda3
da "child"

banda [JUNIOR] wr. banda3
da "(to be) junior; small; (to be) wild, fierce" Akk. ekdu; �����
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sun
ud [SUN] wr. ud "day; heat; a fever; summer; sun" Akk. immu; ummedu; umšu; šamšu; 
���
urun [EXALTED] wr. urunx(EN); u18-ru; uru; uru15 "(to be) exalted; (to be) strong" 
Akk. dannu; šapsu; ����
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ud [SUN] wr. ud "day; heat; a fever; summer; sun" Akk. immu; ummedu; umšu; šamšu; 
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urun [EXALTED] wr. urunx(EN); u18-ru; uru; uru15 "(to be) exalted; (to be) strong" 
Akk. dannu; šapsu; ����
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unir [ZIGGURAT] (12x: Old Babylonian) wr. u6-nir "ziggurat"

[1] u6-nir
+ -0 (8x/67%); -ra (4x/33%).

3500 3000 2500 2000 1500 1000 (no date)
[1] 12



2 distinct forms attested; click to view forms table.

1. ziggurat (12x/100%)

~ LEX/Old Babylonian/Nippur[[u6-nir]] = = IGI.E2.NIR = zi-qu2-ra-tum#OB Diri Nippur 156. 
unknown/Old Babylonian/unknownu6-nir = zi-qu2-ra-tumMSLSSI, 17-27 iv 41. 

See ETCSL: u6-nir=ziggurat.
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šita [PRIEST] wr. šita "a priest; ~ figurine" Akk. ellu; ikribu; ramku

šita'eša [PRIEST] wr. šita-eš3-a "a priest"
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šita [PRIEST] wr. šita "a priest; ~ figurine" Akk. ellu; ikribu; ramku
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šita'eša [PRIEST] wr. šita-eš3-a "a priest"
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pa [BRANCH] wr. pa; pa9 "wing; branch, frond" Akk. agappu; aru; kappu�
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sa�bur [PRIEST] wr. sa*-bur "priest"

sa� [HEAD] wr. sa* "head; person; capital" Akk. qaqqadu; ����
sa� [KING] wr. sa*4 "king" Akk. šarru

�������������� ���µK� �"��	��H�������6��v�6�<.
�����
�
� ��
(��T��

�#��A1����0M%�����������QA	���������&�´����¡������������
�>�������,����������<�$v�"��	���

������ ���=(��Â
��
��,�>:�����L�,����>�����n��� ���=(�6� � ���������������� � ���
�>������;������:k������,����>����$������"��Z����

� ��=(�6� � ������6���\���<�6�,
��H,��U�?�<�I�

�����Â
���

sigbar [PRIEST] wr. sig2-bar "a priest" Akk. luhšû; sigbarû

sig [BURN] wr. sig3 "to burn (of digestion)" Akk. ������
sig [CLEAR] wr. si-ig "to be clear"
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bur [BOWL] wr. bur; na
4bur "(food) offering, sacrifice; meal(-time); (stone) bowl; a priest" Akk. abru; 

naptanu; 
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bur [PRIEST] wr. burur

2 "priest"

bur [GLOW] wr. bur2; bu7 "light; to glow, shine" Akk. 
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bur [LOCUS] wr. bur11 "a cultic location" Akk. manzâz êni
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ud [SUN] wr. ud "day; heat; a fever; summer; sun" Akk. immu; ummedu; umšu; šamšu; ���
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tu [PRIEST] wr. tu "priest"

TU [PRIEST] wr. TU "type of priest"

atu [DOORKEEPER?] wr. a-tu "doorkeeper?; a priest or cultic functionary"
atua [PRIEST] wr. a-tu5; a-tu5-a-tu5; lu2a-tu5-a "a type of priest"
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�.Akk" light up, to burn "kur.  wr��
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]BRIGHT[gug"bright) to be"(gug.  wr��
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kur
]BURN[urk
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�.Akk" light up, to burn "kur.  wr��

]SCATTER[sag; dâku.Akk" to beat, to kill; disperse, to scatter; )down(to throw  "7sag; 3sag; 2sag.  wr
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sa�bur [PRIEST] wr. sa*-bur "priest"
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ur
ur [ABUNDANT] wr. ur3 "(to be) abundant" Akk. ���

�
ur [ANOINT] wr. ur5 "to rub in, anoint" Akk. ���
��
ur [BAKE] wr. ur5; ur3 "to bake"
ur [BASE] wr. ur2; *ešur2 "base, legs of a table"
ur [COLLECT] wr. ur5 "to confine, imprison" Akk. pâdu
ur [CONVULSED] wr. ur4 "to be convulsed" Akk. ��
��
ur [DOG] wr. ur; *ešur "dog; ~ figurine; ~ toy; lion" Akk. kalbu; labbu
ur [DRAG] wr. ur3 "to go along; to wipe clean; to beat, sweep away; to drag; to raise a boat" 
Akk. bâ'u; ���
��; 
��
��
ur [FISH] wr. ur4

ku
6; urku

6 "a fish"
ur [HARNESS] wr. ur3 "harness; yoked team" Akk. �������
ur [HE] wr. ur5; ur "he; that, this same; maid, female slave; one; corresponding (to one 
another); like (one another)" Akk. amtu; 	
���; �	��
��; šû
ur [KEEL?] wr. ur2 "keel?"
ur [LIVER] wr. ur5 "liver; main body, bulk" Akk. kabattu; ummatu
ur [MAN] wr. ur "man" Akk. �����
ur [PLUCK] wr. ur4; ur5 "to pluck; to gather, collect; to harvest" Akk. ���
��; �����; 
���
��; ���
��
ur [ROAM] wr. ur4; ur-ru-ur "to roam around" Akk. ���
��
ur [ROOF] wr. ur3 "roof" Akk. ���
ur [ROOT] wr. ur2; ur5 "root, base; limbs; loin, lap" Akk. išdu; mešrêtu; ����; utlu
ur [SERVANT] wr. ur "servant"
ur [SHUT] wr. ur3 "to shut; protection" Akk. �����; kidinnu
ur [SMELL] wr. ur5 "to smell" Akk. �����
ur [TRIM] wr. tug

2ur2 "a cloth trimming" Akk. ����
ur [UNMNG] wr. ur14 ""

�$%�!����!=�����	�Pg�����:�����)����

]TIMES[ara.)"math(step ; omen; way; ways; )with numbers(times  "2ra-a.  wr��
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1. [...] sig-ce3 ed2-de3 nim-ce3 igi bar-[re]-de3

Emerging …… below and gazing upwards

Sig (V) = �Q9ÌJ�W��  to be low ����=�� ; 

 e (V) = �
x���Y� to go out or in ��Q�*��K�¤���Kt5v��t ;

 nim (N) = Q������TK=ÌV  upper (land) �P%���T�@=��t�QV  ;

 igi(N) = �Q@�x�T�K�%�V  eye <�J�;

bar(V) = Q���K�Í��=��
	��Y� to set aside J�����Q
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2.
dutu a-zu /gal\ [a]-a saÓ gig2-ga 

U,tu great physician, father of the black-headed,
utu(N:DN) Utu �	���Q��������U��
�5v���Q ;     

 a-zu (N) = Í��@��T	KÍ=5Z��>�®Z�����V(�~���  = healder �Q`~���Z�g���<  ;    

 gal (V) ��Q�W�$Z����
��Q��W�$Z���Í�  = to be big �Q�	������� ;    

 a-a (N) �Q������Q  father ��Q���¤ ; 

���(N)�Q� head, person =�����ô_6��Q�#M�=��W��KPg����0(��T�W�������(�0¤�>��?��W��KPg�������	�+���ô_6�
�W�0����8KPg�#&����	=���VPg$��×����������=�� , 

gig (V)�Q� to be black

���giggi [BLACK] wr. giggi; gi6-gi6 "(to be) black" Akk. ����� ����	���:��Q���8��W�$Z�Q�#M
x��Q
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3. sun4
na

4/za-gin3\ la2e2-babbar-ra

wearing a lapis-lazuli beard in the E-babbar!

Sun(N) W�����+�8�Q� beard �Q�K¿ ;    za-gin (N) lapis lazuli  ;    la (V) to hang  ;   e-babbar (N:TN) E-babbar

la [HANG] wr. la2; la; lal2 "to supervise, check; to weigh, weigh (out), pay; to hang, balance, suspend, be 
suspended; to show, display; to bind; binding, (yoke-)team; to press, throttle; to winnow (grain); to 
carry" Akk. ��
��; ���
��; �	
��; kamû; �������	�	���; kullumu; 
��
��; šuqalulu; zarû
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4. dutu/ur\-[saÓ] /gal\ lipiØ unken-na 
Utu, great hero, focus of the assembly,
ur-����V�T �}����W�����}�������Q�Q� hero ��Q�����=38�	=�   ;    
gal(V) �Q��}�����K��Í� to be big ��Q����� ;
��ç�ç� ��Q���K=������KÙ�QZ����¿�Z����GK�Ù  (N) inner body ���	�����U�	���Q
lipiš [INNARDS] wr. lipiš; lipišx(|AB2.ŠA3|) "inner body; heart; anger, rage" Akk. libbu; uzzu; 
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 , unken (N)  = KW����Ì®Ì  = assembly ���6�¾$/��Q
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5. lugal /gud-alim kur\-[ra dub3] ba9-re6
king, bison running over the mountains!
Lugal (N) �Q�+�=������8�U��Q  king �:�6�Q     ;  
  gud- alim (N) �Q��Q�	�8��@����� bison ���x��Q   ; 
  kur (N) ��Q��¯�	�=Ì��!¤�=Ì��Ù�Q��!=Ì8!+��=Ì8�!� (mountain) land �Q:��    ;    
dub (N) �Q	K��� knee ��(�@�Q    ;    
bad (V) ����Q��Q�W�$J� to open �@������Q
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6. dutu gud-alim kur-ra dub3 ba9-re6
Utu, bison running over the mountains

Utu (N:DN) �Q��������>������ Utu �������Q     ;   
 gud- alim (N) �	�8���Q��Q@����� bison ���x��Q   ;  
 kur (N) ��Q��¯�	�=Ì��!¤�=Ì��Ù�Q��!=Ì8!+��=Ì8�!� (mountain) land �Q:��    ;    
dub (N) �Q	K��� knee ��(�@�Q    ;    
bad (V) �Q�Q�W�$J� to open �@�����Q
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7. šilam ban3-da /UŠ?\ nu-ed3-de3

A young wild cow ……;
�ç��á�V�T ��Q�K�YP�Q  cow ���x���Q ;
ban-da (AJ) �Q��W�6����*�� junior �YJ����Q ;
����; ed (V) �Q�>����	��W�� to go down or up ��Q�¤���*���Kt5v��t ;
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8. u3-ba-zu ban3-da ÓiØ-/bur2
!\ dab5-ba 

a young gazelle (?) caught in a trap
u-ba-zu (N) �Q�/����=�Q  type of animal ��Q���+��\ ;
 ban-da (AJ) �Q���/*������*����Q  junior �YJ������Q ;
�ç�-bur (N) ��Q���Í�@���Q snare �#%���Q ;
dab (V) ��Q�>�	��W���Q  to seize �t5v=x��Q
�ešpar [TRAP] wr. *eš-bur2; *eš-par3; *eš-bur? "trap, snare" Akk. gišparru
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9. dutu iri-da e2-nun-an-na dumu dnin-gal-e tud-da 
;Utu; the son born with the city to Ningal in the E-nun-ana;
Utu (N:DN) �Q��������>������ Utu �������Q     ;
iri (N) �Q�����36����P����=�K=��  town �=36���Q ;
 e – nun – an – na (N:TN) E-nun-ana 
��������(���(�� ;
dumu(N)����	= ��\��	���W�6�������®\��		� = childe �����Q��(@=v ;
 nin-gal-e (N:DN) Ningal (��+�1P   ; 
 tud(V) = ¯���¯�	���W���W��  = to give birth Ó�@�������Q
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10. gud ÓàØerin a naÓ-a ha-[Øu]-ur2-/ra peØ\-a 
a bull; a cedar fed with water thriving among cypresses; holy (?)



gud (N) �×�8��	��8��K������K@�������YPT�K�P�	�8���8���W����*K(��%x����(���=U��x��=�Q�VQ��� bull ���x
~�������x����Z��¿��=������	���W�	�8� ; 

erin (N) �Q���¿��������=���U�	�Q��K�t  cedar �Q��=���U�	  ;
a�� (N) �0��T=����V��� =  water �Q
� ����ã���V�T �¯�(��Q�K�Y$� to drink ���Q6�(��� ;
ha-����– ur (N) �)���6���������QQ{������ type of cypress 7�(������=�� ;
����V�T �QÌ¤����¿��Q6�¿���Z�8���¿��t to be thick �Q�_±����%���<
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11. gi-rin Øag4 su3-ra2 e-ne dug4-/dug4 \
patient-hearted; playful
gi-rin (N) �Q����x�Qx�=��Kt  blossom ����x�Q  ; 
��ä�V�T �Q��Í�:�����Q��¯�6 heart �Q��%8  ; 
sud (V) �Q�	����Q�Q@���W� to be distant ���	��Q  ;
e-ne (N) �Q����K�����Q�#
(
�  game ��Q@��� ;
dug (V) �Q:
	�����Y���Q�W�	  to say �t5�x���Q ; 
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12. su3-ra2-aÓ2 e3-a su-lim-ma gun3-/am3\



; radiating light; he is iridescent radiance!

sud-���V�T 	�����¯��Q¯���W������W����%Ì�Ó� brilliance ��	���W�=��������	������U�	�Q ;
e (V) �
��Q��Q��
x��Y� to go out or in ������=K�t5v�����	���Q  ;
su – ilim (N) ������K%���<�Q�Ì�Ó��W���	Q��Q (awesome) radiance �U�	�������Q  ;
gun (V) �Q����*��Q��x to be mulicoloured �¼(���(��Q

=������������������������������������
�����������¯��������������������Z�<����x������������������Æ��
�/K��KP��=�����������������¯���
x��������������������Ì�Ó�������Y����x����������	T9Ì�Ó��V�Û��*Æ��

�=���%Ì�Ó����������������������������K`����x���������������%Ì�Ó�����������t%x�������9%\�����t��
��v�����������������P6����K�������U�	��x�P�U�	����$���¼(���(��

7-12. A young wild cow ……; a young gazelle (?) caught in a trap;Utu; the son born
with the city to Ningal in the E-nun-ana; a bull; a cedar fed with water thriving among 
cypresses; holy (?); patient-hearted; playful; radiating light; he is iridescent radiance!
*****

13. ud-ba lugal-Óu10 ed2-da-ni-ne 
Then; as my king comes forth
ud (N) ��Q��Q�>������ day(light) ��Q�P6�����@���K ;
lugal (N) �Q��+�8�Z�Q�+�=� king �:�6�;
e (V) Q���
��Q��
x���¼��  to go out or in ��Q��6��U�	���Ö��U ; 

=���K	����+�8��Z��������������������������	
��������\��	��(��}#(
�/�K��KP��=����t������������T�=(��������������V�+�=���x��������	������
�=��t�������������������������T#/�t������=(����V+�=���%x���<ÌZ��@��K#P��

���v�>��8�=�¤��<)�6	�¤��#���(�$)�������������������������	����

14. an mu-/un\-da-/dub2\-dub2 ki mu-un-da-/sag3\-[sag3] 
; the heavens tremble before him and the earth shakes before him.

an (N) �Q���W�$J��P/�����\����Q��  heaven ���3��Q ;
dub (V) ��
�	=}�}	�����Y$P}¤=}����Y}���Y}�}=5�Q to tremble ���Q@=ZK�� ;
ki (N) �Q�
K=ÌT�=Ì��Q��V��  place ��/�;
sag (V) �Q��+�J���Í�������W����QW��  to beat �W������; 

=����������������������������������������������Æ��	��
��	Æ������������������
��	�������������������	���W��Æ��W���
��
�/K��KP��=�����\��������
}	���������(�(����������������1(����P}�}	�
}	�=Ì��������������=TK=Ì��V���(�(���+�J���+�J

��(�Z��T=ÌPÌZ�JV��
�=����\�����������������������1(���T��3���V��(��(���T��PÌ\���8�V��=�����=�=5K������K���(�(�����������=Ì�=Ì(*�_Z�J���

���v���¿%��1���	���$�������3������������������@�����	@=%�����`��¿%��1���	�t�	��_���



15. KA mu-[un]-bal [e2]-gal-la ed2-da-ni-ta 
After he has left the palace he …….

Ka () ka���; bal (V) �Q��JK*����Y��}�}�����Y�=��W���+��  to turn over ����Q��(�	=x=� ;
e-gal (N) �Q��/��Q
��+�8 place ���Q�/ ;
e (V) 
��K=��6������Y���
x�#� to go out or in ��Q������U�	�t5v����= ;
bala [TURN] wr. bal; bil2 "to rotate, turn over, cross; to pour out, libate, make a libation; reign, 
rotation, turn, term of office; to revolt; to hoist, draw (water); to transfer (boats over weirs etc. 
blocking a stream); to carry; to boil (meat in water); to change, transgress (the terms of an 

agreement); conversion (math.)" Akk. elû; nabalkutu; 
�����; naqû; palû; �����

��
=������������������������������������������
����������+���
�
��+�8�������*	}�����	��(������

�/K��KP��=������(��(��������Û�������������������(*���K=Ì����}:�
x�������������}:��
�=���}:�(��������Û���������������������������������������Ì(*�	K��}�
x��������:	=Ì��

���v�������������������@���g��#��K�����v���M(��@��#`P���

16. an mu-/un\-[...] 
The heavens …….
an (N) �����Q=(�����$)�#����\���K�K�=�Q heaven ���$�������3���Q ;

=��������������������������������������������Æ�
������
�/K��KP��=�����\���������������������1(����
�������

�=����\�������������������������������*���1(����
�������
���v��������������5�3����������������������
����

17. ÓàØsi-/Óar\ [an-na-ke4 X X] hu-[mu]-da-gi4-/gi4\
May the bolt of heaven …….
si-����V�T ���_Ì��QÀÌ�������W�� clamp ��	@�¼PJ���t5v=x�;
an (N) heaven ;
 gi (V) 8����x��Q��8K��8���W�������W���Q  = to return =t5�x=�;
hu [SCRAPE] wr. hu "to scrape off, grub up" Akk. 
�����
mu [INCANTATION] wr. mu7 "incantation, spell" Akk. šiptu

=�������������\���U��Æ�����(���#
�XX������
��)������
��	�x���x�Æ��
�/K��KP����=���������������_Ì���������\�������1(���xx�����
W�$Ì6�8��8��K���8K���

�=����_Ì��������������������(�_Ì�����\������x�K�8����������K�5���
���v�*�Z����������������3�������U=J���$��������

��
$/=��4���=��<)�	���0������K@�#%$/�tK$(����P��	���6���



18. /mul\-e! X X-da-ke4 ur4-ur4-[X] 
The stars …… are awe-struck.
Mul (N) �Q��@���Z���Q+���  star ��Q:��5� ;
X () X ;
 ur (V) ���������K��K����W�$®Ì�����=��K5x����Y�=��Q�� to collect ��	��K��	=��¾$/��M`�Q

=��������������������+��Æ�������
�XX��	��������������
#��������X
�
�/K��KP��=�����@���Z���Æ����������������������������*���������

�=��������������������*@���Z�������������������������������������K�%x�����K��Ì®Ì���
���v����������)�:��5������������������(�6�¾$/�<)���	��

��
�x��:	�#/=������x��8K���8K����K��������=%%gv���������K�PK��:	�#M�=���:�K	�:�`$P%�K�4z��=!��x�����x�

�}5Z�����x����x��!�!��\��¯��!�!���������!�!��8����8�!

19. ama-ni sila-a X-aØ LA X [X] 
His mother …… in the streets.
ama (N) �Q�����(��Q����  mother ���Q�	�� ;
sila (N) ���4�QK��+� street �:���;
X () X ;
 LA () LA�*;
X () X

=�����������������������(������4�������X��46� [X]X��
�/K��KP��=����(����������+�����

�=����(���������������������K*��K���	�4Z������
���v������3)����	�����{�	���������������

20. dutu-Øe3 dul3 na-mu-un-di-ni-/ib\-daÓal 
She spreads her protection towards Utu.
utu (N:DN)������ Utu  �Utu-��#6����; 
dul (N) +��	�Q+������}#x��Q (protective) shade ���K�v�¢���Q ; 
������V�T ��Q�tÌZ�8���+�8���9ÌZ�KPg���tÌZ�8�£�	���+�8�	��+�8�  to be wide _±�<������	�������	���¾�Q  ; 
da�al [WIDE] wr. da*al; dam-gal; di-am-ga-al; da-ma-al "(to be) wide; width, breadth" 

Akk. rupšu

=��������������������������������(������������+��	��������#6����������	��(�����K�Æ�+�\�	��
�/K��KP��=���������������������}K+������������#��tÌZ�8����������������������������������������#x��

�=�������������������������������K����#����#�Z�������5Z�U�J��t�T	=564PÌZ�x�V��
���v��$~������������������������K	�	���^0���������j=��#������¿5��
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�!PÌ5Z��#�Z��x����Y�=�Q�$~K����!���4&y����K�PK���:�K(�#%��%��=K(��5~���@�������!��=Z=���

(���	�:�P�!��$Z�����Ë�J�!�K�%��P�!	K=!���=(���������+���PÌ5Z����Z����@����Q�������8�!
�x��	������#P!��#�Z���Ö�\��Y���!	�:�`$(���xK������=�!���Ö�\��Y��X�1�KM(�P��!���!���(��

/���8������#�Z�t�!Í�����x����*�����Z�_Z�U��	����!tÓ�4/�\��Y��X�1��!��!���8��8�!�:�@��
����:=x�Y$(�6�	�=�=ØØØ



21. kur-ra saÓ mi-ni-/in\-il2 lugal-bi na-/nam\
He has raised his head over the mountains; he is indeed their king!

Kur (N) (mountain) ������Q�=Ì�K�=Ì land T��V�Pg��4�8�����:�6� ;
����V�T�ß��� T��VPg������:�6� ;
 il (V) �Q�+�/�����W����Q�K� to raise ��Q���6��P%� ;
lugal (N) king �TPg�������:�6�V ;
me (V) ���
#��Q�K��W�$Z������Y}$ to be ���	�����Q
il [RAISE] wr. il2; il5; il2li

2 "to raise, carry" Akk. našû

=����������������������������������������������¯�����������(�����KtÆ��K+�8�Z���������������(��������£�(Æ��

�/K��KP��=���=Ì8���������TK=ÌV�{������������¯��TPÌ6��������������������V+�/����+�=��������������W�����K������������KW�$Z������Y$��
�=���\�	����������������������T}=Ì8�K}:=Ì���V�5Z�/����������������������������������tÌ6���T	�Ì1Z�8���V�����+�=��=T+�=���K���V=Ó	���

T����������������������������6�����(���`���4\�	�������4(�������	�=\�	��=Ó	�/���t�=Ó	�+�=��=V���
���v�%8�������{=����������������������������:	=���P%���3)����������3(��:�6����#���(�$)���

��
����	�������!�������!(��4\�	��tK���	�t�=(���=K0�5��x������Z���=K���=!�������!(�tÌ8�(�¤���tT��g�Kt�V(���#�����U����\�	�=

T#���@K>�����V`�����	�PÌ8�$Z���t��*���#x=5��x�=�=%�����4\�	�X�1��=T>�8�V	�Í����=?P7K=%PK���8��Z���:�P!	K����
Í=5Z��>�®Z�!��:��x�:	�:	�Í�=%�

13-21. Then; as my king comes forth; the heavens tremble before him and the earth 
shakes before him. After he has left the palace he ……. The heavens ……. May the 
bolt of heaven ……. The stars …… are awe-struck. His mother …… in the streets. 
She spreads her protection towards Utu. He has raised his head over the mountains; 
he is indeed their king!
*****

22. /d\utu kur-kur-ra di-bi-Øe3 kud-/de3 \
Utu who decrees judgments for all countries;

Utu (N:DN) Utu ;
 kur (N) (mountain) land ;
di (N) �QK
x����5Z�¤���������Q��	�  (law) suit ��(�8��X��Z���Q ;
kud (V) �Q�°���Y�T>�8�W�$(4��8���>�8��Q���V���	 to cut T��	=��¾&8�V=�K����Q



kud [CUT] wr. kud; gur5 "to break off, deduct; to separate, cut off; to cut; to incise; to decide; to 

make clear" Akk. 
�����; 
���������������
�����; ��������
�����
��

=������������������������������������������	���������������	������������#}6���:}	Æ��
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x�����������������>�8������������°}���W��*�Y���
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�T�������������K��:=Z=K�5Z@�	�����V��

���v��@=���£�$��=������������������������������	=��¾±����(�8��)�t���
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�%$(����W�J�����:	�#/=���!��(�8�K���!K��!
x���K��5Z�¤���!
	K������Z�K��#%������=!K��%¤����Ì������!���=
!W4�ÌJ���>�Z�!	��U������%¤��K=�

����	�������!������!��tÌ(��=!K�����5x��}@��	��=(�����:=K0��!Í�����x��	���8��Z�����K(����#MÌ(��=KMP��
!K�*���!��	K�4(����=(������(���K�t!X�1��!��!������!���tÌ(�=Z=�Í�������x���(��8���Z�����

����	�����x����:	�#/=�����#P!K����
x���Y$0����QKY$5Z@�	�����!���$)�#Z����Í�����x���@��

	K����K�P��:	�!�Y$0��<`�~�Q�Y��#Z
��>��½8�!����@��K�PK��:	�#M�����:�K	�#%�KÍ�=�

���	������x�����Í���x�#P��#/=�����!�����������QK=Ì�K�=ÌK�}	=Ì��K}:=Ì��!x�����#PK�PK`�#M������
��:	�:	KP}%��%�=�

23. /en\ dumu /d\nin-gal-la-ke4 kur-kur-/ra\ ka-aØ-bi «igi» bar-re-[de3] 
the lord; the son of Ningal; who renders decisions for all countries;

En (N) ���
��Q=(������8��T��\����Q��V lord ��8���;
  dumu (N) child ;  
 nin-gal (N:DN) Ningal ; 
 kur (N) (mountain) land ; 
ka-���V�T ��Q$?����<�Q���{��  decision ;  
 bar (V) �����Q��Y}$Z��� to set aside 01����	=��<
kaš bar [MAKE A DECISION] wr. ka-aš bar "to make a decision" Akk. ?
kaš [DECISION] wr. ka-aš; ga-eš8 "decision"

kaš [RUNNER] wr. kaš4; lu2kaš4 "runner, trotter, messenger; to run" Akk. ������; ��
û
�®��#®�z�����

��>^���! I���
������
���,����� 
�F���®�z#��
�6����H�������ç�z#��
��
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��
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24. en gal-zu eØ-bar dumu den-lil2-la2-ke4
; the lord who is highly skilled at verdicts; the son of Enlil;

en (N) lord ;
gal-zu (AJ) +�8����@�Q���@�����5�����Q skillful =)�����	�5����Q ;
��-bar (N) �Q$?���<�Q decision ;;
 dumu (N) child ;
en-lil (N:DN) Enlil ;

=����+�8���
���������������������������@{
��������
�������������������������	�����������������������������������Z���*�#
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�/K��KP��=����%��\�	������������������������Y$(��6��	��������@���������\���������T��%\������V��\����Z���}#Z��

�=����@���������\����������������������T�����\���K�@���Í�!	�5��V!Y$(��6��	�������\�����������������������%\�������:	�
Z���}#Z��

�T�������������������������������\���KÍ�T���V��@���T�5������V��\�������:�`$P�6��	��Z�����K%\������t���V��
���v��8�������K�<T��UK<���V������=0¤����g6���<3v������	�5���Z��

25. dutu gal-zu mah dumu /dnin\-[X]-la2-ke4
highly knowledgeable and majestic Utu; the son of …… --

utu (N:DN) Utu ;
 gal-zu (AJ) skillful ;;
 mah (V) �Q�x���:��K��Y��Q  to be majestic ��Q@K�� ;
dumu (N) child ; ;
nin-gal (N:DN) Ningal ;
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=����+�8�������������������������������������������������	��������������:��������@�(�tÆ��X
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�=��(�����%\��������������:�������@�����������������������������������ÛtÓ�+�1P��

�T�����������������������������������T��KÍ��V��@���T�5�������V:��T+@�x�V(������%\����tÌZ�1PV��
���v������������������������:����
�����	�5�����T@K����V(���(@=v���Û+�1P

26. dutu X (X) saÓ-/Óa2\ [mi]-ni-in-Óal2
Utu has placed the …… on his head.
Utu (N:DN) Utu ; 
X() X ;
�����V�T�ß�����
����V�T �+�8�Q+�8������
����Í�����W� to be located =  P`�������x�K��  ; 



��
=����������������������������X) X����V¯�����8��Æ��
��(���Kt�+�8��

�/K��KP��=�����������������X) X�����V¯��T{��V��K+�8�����������P�	�T�8��	�V��
�=�������������������������������������������8���(�!6��K�����

���v������������������#���������������������������=���/�{=���	�	���
���#/=���!W���Q{����!�#M������!W���Q#P}JT#(�J�Q�V@����!(�������K�PK�:�!+�`����Q�W���|�Ì8�!�:�`����x�:�(��@���

�K�����	������!�Ì8�QÍ����!��!�Í���Q#}P}J�!=Ó	���

22-26.Utu who decrees judgments for all countries; the lord; the son of Ningal; who 
renders decisions for all countries; the lord who is highly skilled at verdicts; the son 
of Enlil; highly knowledgeable and majestic Utu; the son of …… -- Utu has placed 
the …… on his head.
*****

27. en dumu dnin-gal-la KA /DI\ 50 Øu-ni Øu-mu-un-Óal2
The lord; the son of Ningal; holds the 50 …… in his hand 

en (N) lord ;;
 dumu (N) child ;;
 nin�gal (N:DN) Ningal ;
KA () KA ;
 DI () DI;
50 (NU:cardinal) 50 ;
���V�T ��6��Q��+}��Q hand ����	���;
����V�T� �Q+�8��8�W������W��+�8 to be (located)

=�����(������������������	������
���������������t��+�8�������*�	��Æ�������6�(���6�����������������+�8��
�/K��KP��=���(�����������%���\��	���\��������t�+�8����������tÓ��	��Æ��+}������K�Z�8������������������:�P����8K����

�=����Z��\��	������\��������������������T��%\���V(��t�+�8�����������tÓ�	��Æ��Z��������*�����������#P��
T���������������������(�������\����%\������tÓ�+�1P�������	��Æ��Z���*��#P�V��

��
���v�������U�������������(�=0¤�����+�1PK����#`�	��Æ��#5v=x���	��	

28. ud-gin7 kur-ra gu3 /mu\-[ni]-ib-be2
and thunders over the mountains like a storm.

ud (N)�	��= 	�����<Ó=Ó�%Ó���V6���v�������v���(�&� )   =  storm ��Q�W=����7������v�� ;



kur (N) (mountain) land ;
gu (N) �8���x����Q������W�$6�(�8�W����16�x��°}������Y}$}5Z��� =voice �Q�x�����y ;
dug(V) to say ; 

=����	����������������������8�����������������t���������������8�����������������Æ���(�
���K�������#
���
�/K��KP��=���	�����������Z�T£=Ó�%Ó����V=Ì���TK=Ì������V�W�$6�(��Y
�
	�����

�=���=Ì���������4$Ó=Ó�%Ó������������������������K:=ÌT�\�	��VY
�
	���
�=`6�8��
���v����50)���=��:�P�����W=����7��������������������

29. kalam-ma saÓ [mi-ni]-in-il2
He has lifted his head over the Land.
kalam (N) �£*���Q%8�����<K���=Ì�Q the land �Q�@=��%8����t�<  ;
����V�T�ß����;;
 il (V) �K�  =

+���������+�1�Í��=Ó	  =to raise �Q�	=���$~����	=���P%� ;
il [RAISE] wr. il2; il5; il2li

2 "to raise, carry" Akk. našû

=����£*������������������������������������W�������������������(�
��Kt��K������
�/K��KP��=��������������K%1�<����TK=Ì������V¯��T{�����������������������V+���Í����

�=��8�����������������������%�#$T�P���K:=Ì���V	=Ó�Z�8�������{���+����Í����
�T����������������������������(�#`Z���������Z�����{���#(�5����t�V��

���v�������������������K=���#`��=����6�t������
��

���	����!W�$Z����{���!��!�6���%�Y$
Z
��9�!@�����K��(���x�:	�#/=����#M}%�

30. hu-ri2-inmuØen-gin7 /kur\ Øuba4 kur Øuba4
ba

My king Utu; you cross the shining mountains; the shining mountains 
like an eagle!
hu-ri-in (N) Q��+����8�Q�)�����Kt  eagle �
�17�Q ;
kur (N) (mountain) land �
��
��V"#T ���6�Q����Q�9Ì�Ó��W����%Ì�Ó�� shining �U�	������Q ;
kur (N) W�=¤���¯�	��K�=ÌT=Ì��¤�@���¿K@���=Ì��:�P�@���=Ì8�:�(�@���+��=Ì8����Q�Q�V (mountain) 
land �:�����Í�U�Q ;
���
��V"#T��ßçãçãä

=�����)������������������K�t�x��t�����������������Æ�������6����������������������������6��
�/K��KP��=�����+����8����=Ì�����������tÓ��TK=Ì�����V=Ì���W����%Ì�Ó�TK=Ì�����V��W����%Ì�Ó���

�=�������+����8�����������������$�$��4\�	����tT=Ì���K=Ì����V5%Ì�Ó��0���
��T��������������������������+����8�$���<�Ó��5%Ì�Ó��<�Ó���4\�	��������������V����

���v��3)������������������z��������U�	��K�
�17�Y��



��
���#/=���!W���Q{����!�#M������!W���Q#P}JT#(�J�Q�V@����!(�������K�PK�:�!+�18���Q�W���|�Ì8�!

�:�`����x�:�(��@����K�����	������!�Ì8�QÍ����!��!�W���Q#}P}J�!=Ó	���

31. lugal-Óu10
dutu mu-da-bal-e-en 

My king Utu;
��

lugal (N) �Q��+�=�	���8�U� king �:�6���Q ;
utu (N:DN) �Q�Q������������� Utu ;
bal (V) = +�	��+����Í������	�����`� =to turn over �t5�x=����U=J�����

=����+�8�Z�������������������������������������8��	�+����
����
���
�/K��KP��=����*�	�������������������<Z�=���������tÓ	��

�=���*�	�������������������<Z�=�����������������������tÓ	��
��T����������������������������+����8�$�<�Ó�����5%Ì�Ó��<�Ó���4\�	����tÓ�(*�	��t����������<ÌZ�=��������V��

���v�56¶x�����������������<)�6	�¤�������������������
T�3)�����z��������U�	��K���
�17�Y�56¶x�����<)�6	�¤����������V��
��

�x��	������#P!+����8!������=K=�!�X�1��!~�������$�	��³�/���tK������=!+����8��!%Z��$��!�>�(�8��!
���*�=(��!�������!���K=�!�=(��K��tÓ�4!)�=%%`K:�P�!(���x�:	�:	�������=(�����=!>�(�8�!x��#P
��*�=(��!��)�!����Ì(4Z�8�:	�:�`�=5��x�K=ÌPÌZ��#��

32. [igi]-ni kur-ra bi2-in-la2
He has lifted his gaze over the mountains

Igi (N) �K���Q�����@��xK�%�Q�  eye �<�J���Q ;
kur (N) W�=¤����¯�	�T=Ì��¤�@���¿K@���=Ì��:�P�@���=Ì8�:�(�@���+��=Ì8����Q�Q�V (mountain) 
land �:�����Í�U�Q ;
 la (V) Q��*�X�W���W�$(4������W�$U�� to hang ��K��6�������	=��Q

=�������������������������K��
��(����������������������������������������������Kt��*��
�/K��KP��=�������������x���@��T��x�@�
V��(���=Ì������T¯�	����������VX���#(��5������*�	�T�U���V��

�=������������������������x����@T@�x
V�(����	4���#(�5���������������������tÌ\�	������T�Z���:�(�5����V��
T���������������������������@�x�	�:�(�5�����tÌ\�	���K=�T�V\�	�������x�K��V��

���v��������������������K��:��(��:����#���¿(�$�J����#`��P`�T��K��#5v=x�	�U��qv�¢���¢�����3)���#`�KV��

���	����!������!�4\�	�#MÌ(�tÌ(K�t!�/���8�!=(��K0�x�����Z����Y}���x����8���Z������tÌ(��������#P!�W�(�¤��
�Q��g��!=ZKP���$g���tK0��:�P!¯�	�!�K�K����x�t���=x�K=K=T��#���@K>���1�*���������8�W�/����V��
x�Z��$��¯�	�:	=%�����#P���*���!W��*�8�{�	�!��K��!��W�=¤���Y���=!	�*%`6�#�����¯���:�P!W�(�¤���

��g��!�$5Z@�	�=%����tK����:�P�=K0�=5��x�tK=���
��=Z@�������#M����K(���x�:	�:	�#/=����tP�����=KP�=Z@�������:	�:	�#/=����K�P%�K`��t

Í�����x!���W�$Z�����:�(��5������@�x�Q�W�����8�QY��}#Z
���qv�¢�!��
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�#/=���!�K���Q�@�x<�J�!@���@�x�����)�K��#%��(}������=K=��KPg�5~����:	��:	�#/=����!�K��@�x�!
�����	�K����/�Y�	�����K�4z����%!������!�!���x��!�t%x���PÌ6����!���!��$0�	�K���#6�	�:	=Z�#M3Z�Y

��=%��K(��!�����x��!K=K�#M`��#P!x���x�!��!x���!@������%x�:�������J���=%�����	������t��:�!��x��Y}��!
x�:�(�@����#P!�x�@�!K=K�#P!��x����!=5��x���@��Kx���£=��#P!�x��X�=���Y��!@��K�:�P�!�x�@!K�t!@�!0��

!X!K$6�(�J�����K�=��(������=5��x�K��=�!��x�@�!@��K��:�P�!�@�!0����t%x���	�=(�����=!°��!
=5��x���8��Z��K���=!°��=����:�����!P8	�$Z����=5��x�K��J�=!�8�?5Z���!	K�:	=%%!=%����!	K�����������$%

	�°�K��%��4z��=!�x��@!��!�x���Y��!��!�x�X�=��Y��!=Z@��K	�:�PK���Y!:=%0��!��JK%����@�������=
����!���x�Q<�J�!	K=ÌZ�8�:�Z�~��$%����

��
]EYE[igi�
�.Akk)" for statues(carved eye ; eey "gi-i; 2bi-i; igi.  wr
��

x��	������#/=����#P!����x��Q�K�%��Q�x���@�x��@�!@��K%\���#%����5x���@���=����=�=KÍ�=����
!�K����x�¼�Q�!x����=\��@�xK°��

igigig [DISEASE] wr. igi-gig "eye disease"

��	������x�@���@�x��:	�#/=����#PK%\���#%��K(��!��Y��:���@�x�!�#M������!Í}�}�!�Q�!W��4�����!@��K%\���#%���
��@���=����=�5x��=K��Í�=�	���������$)�K�=���

�#/=����!<
6�������@���Q�!�#M�����!�#}��Í}@��!���!����Í}@�Q�!W�$(4������
�#/=�����@�(������x�#M(!<6������@�!(���t�=KMP�!���M)��!(*�8���
�6�	����$)�!����@���Y��Q}
��}@��Y��!

����6��$Z�����5~����#/=����!<
6������@K���!�#M������!#}���Í}@!K��t��=�=K�#PK��8��45Ì��8�tÌ1Ì%PÌU�K����#/=������J�=5Ì
	�:@��K��
	�YK
	���$)�:=%�K��=Ó	����}:	�}:	�}#M��������U���:=%`�

]KOHL[šembizidato ; antimony paste, eye makeup, kohl "šembizi; zid-bi-šem; šembi.  wr

anoint, smear on" Akk. egû; eqû; šimbizidû

27-32. The lord; the son of Ningal; holds the 50 …… in his hand and thunders over 
the mountains like a storm. He has lifted his head over the Land. My king Utu; you 
cross the shining mountains; the shining mountains like an eagle! He has lifted his 
gaze over the mountains
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�����j<��.��z�	:�,��
Dn��>����W� A�
 �L �)��



UTUR (Sm) = UTU (Sm) + UR(Sm)��

�*=aI�~�~	~�[UTUI���������t��0S�����������?�	a����FD=
�"���
���&�&� ��I��&Y��f�+;
���
�0'��%��I/������%�&���	���������I��~�[UD�I���������0@�%I��f�+;
����������+D��	�"���I&'����

�=������aI��~��I=�	%����0@�%�������D������������/����=�CA5�z<����?����$���*=����8��*=�
3=������;%�"�����a������"����+���%�5�(+4�%�-��CA5�.&'�/��2��

ud [SUN]

wr. ud "day; heat; a fever; summer; sun" Akk. immu; ummedu; umšu; šamšu; ���

�4%I�~�~	~��I�#&���+��!�UF*	%�-��"�I����~	~��I&'����=���������I�n�*G�f�+;
�����;�I����#�1�&0��=�
��Y���$�B@;[=��*�"����+;�����"���*=aI��~��I�������#&'�A��=�CA5�����
�.��'��.&'�/��T

utu'e
utu'e [SUNRISE] wr. utu-e3 "sunrise" Akk. ����
��
	

�4%�d?�������*=aI��~�~��I���&�/F���=��
�-��0@�%���I�����I=�~	%�/����=��������-���#&0'�A��=�-��
0@�%������#&�&�Bh�I�!�=����I�����0@�%I���10?������5���������?�I�#&�&�Bh�I�������������I��

$�p���"��&5�-�8��(��9#&������222���������;%�-��.&'�/���&0���I����[E	�

ur [MAN] wr. ur "man" Akk. �����

�������
:�,�"�P��H,����,���)��
�%,����)�
<�H,�<.
��.,�>��T���±��J�,�
$v�T�@�����)�%,�H_E%,��T�����
<�S�H,�<.
��.,�>�T��

����.��������
:�,�"�P��H,����,���)��
��R,����)�

�TA^R���T�>��HR�R,��
�>:$��q�^ ,�����!�.���,����<��é±�;�q�^���<�!<�,
�q�^����J��,��T�

�v����9¥���¡BAD/PAD
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����[}���b�.�09�$+;���I/����2��$���*=���������������@�%I�������������'����.��I�����I���'����.�������������I
���I��@*5�I����I��@*5[��'�I��>���+;��/�����0@�%���'������
��/U;�<��.&'����-���#&�&����
���� ��I���	
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���¥���
�[�����I�#�+��0@�%�/U;�<��.&'���+L%I��@*5�����@*5���'�I����#&�&2��

bad [WALL] wr. bad3 "wall, fortification" Akk. ����

*=�a������I�����I�*=�.�������a������I����
�I"��������"���=�	�%0t�����#���;����$%����>��#0@�����Ch�����%�
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��	���'�,%���

������I����~�~��~��I�&��D9����"��¡0@��������%I��@*5[��'��@*5��I�����Y��#0>#0@���=�-%I����.�1�������
*<�%����������-���&����Í�F<��#&�&�I�������"�"����*=�$���+����%5�(+4��%������%���;����%����"����-�����.&#����

�8��(���SI���
������
��I����8��(���I���[��9�I�*=����Ch�aI���9[����I0@��%1��09�B<��#��2

abad [SHELTER] wr. a2-bad3; an-bad“shelter” Akk. tabinuprotective
abad�al [PROTECTIVE] wr. a2-bad-²al2“protective”
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�I�����I�*=aI�~��~�~��I�#&'�A��=�-��
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"����$�n���S�
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#X�0�=�	%�/���2���0����$�B@;�
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�����
������$+Y��������@������"�������������#1#&�����#$�B@;����.�����0>	#E>������&=
��-���#���1�/����Bh��

8��*=I�������I�I�#B�I�=����Bq��������/���4�%�������;%�-��c*N(��/��T

dur [BOARD] wr. *ešdur2 "wooden ledger board; board" Akk. kiskirru
dur [BOND] wr. dur; gidur "binding, knot, bond, tie; umbilical cord; rope" Akk. abunnatu; markasu; 

�����

imdua [WALL] wr. im-du3-a; im-du8-a "mud wall" Akk. pitqu; pitiqtu

imdua [WALL] wr. im-du3-a; im-du8-a "mud wall" Akk. pitqu; pitiqtu

�����¢�������
����I�:�.����.,�A����:k���������H�
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 ���)

du [BUILD] wr. du3 "to build, make; to do, perform" Akk. banû; �����
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kalam
kalam [LAND] wr. kalam; ka-na-a*2; ka-na* "the Land (of Sumer)" Akk. �
��

�
��;6L#��+������3�P��$6�3�$��6�����������301�������;����I��B��	����;����I��B��,m����@

ku
ku [PLACE] wr. ku "to place, lay (down), lay eggs; to spread, discharge" Akk. nadû; ����

����.�CM�$�p��������/�4��I����=�I0@����%�"�����$G��#$��/�4�������������1�����-������=�-#����&���+I���[
��5�I�����/�4�-��-��
��=�&'�����I������I0@����%�I��"#�"���$#Ï,���$�I�#�������+L���=�&'�A��������I����=�I

/��T��

gana [FIELD] wr. gana2; gan2-ne2 "field; area (of a geometric figure)" Akk. Eqlu

villages
gukin [TOTALITY] wr. gu2-ki*2; gukin; gukin2; gu3-kin; gu3-kin5 "villages, settlements; the 
inhabited world; totality, world" Akk. �����; kiššatu
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mugu
mugu [WATER-LIFT] wr. mu-gu2 "water-lift"

river
gu'ena [SILT] wr. gu2-en-na "river sediment, silt" Akk. ������
id [RIVER] wr. id2; id3; id6; id7; id5 "river, watercourse, canal" Akk. �
��
idlurugu [ORDEAL RIVER] wr. id2-lu2-ru-gu2 "ordeal river"
pu [WELL] wr. pu2 "lower course, footing; cistern, well; fish pond; source (of river); hole, 
pit; depth" Akk. asurrû; �����; šuplu

��

�W*��������

stream
]PITFALL[arubanahallu.Akk" trap, pitfall "ba-ub-ru-a; ub-ru-a.  wr

]TURN[balamake a , libate, to pour out; cross, turn over, to rotate "2bil; bal.wr
libation; reign, rotation, turn, term of office; to revolt; to hoist, draw (water); to 
transfer (boats over weirs etc. blocking a stream); to carry; to boil (meat in water); 
to change, transgress (the terms of an agreement); conversion (math.)" Akk. elû; 
nabalkutu; ���
��; naqû; palû; ���
����

]WATER[illu; ����; mû.Akk" flood waters?; waterlogging; spring, source; water "illu.  wr
namba'u; zâbu��

]WATER[nagbu"sources; waters "bu-nag.  wr��

water-lift
mugu [WATER-LIFT] wr. mu-gu2 "water-lift"

aria [STEPPE] wr. a-ri-a "steppe" Akk. harbu; namû



arali 
arali [EARTH] wr. a-ra-li; arali; aralix�����������
��	����
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arah 
arah [STOREHOUSE] wr. arah4; arah3; arahx(|UŠ.BU.DA|) "storehouse, granary, storeroom; storage 
vessel" Akk. arahhu; našpaku 

AN 
an [SKY] wr. an "sky, heaven; upper; crown (of a tree)" Akk. šamû 
gana [FIELD] wr. gana2; gan2-ne2 "field; area (of a geometric figure)" Akk. eqlu 

ganzer 
ganzer [EARTH] wr. ganzer; ganzer3
��	����
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�
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kanisurru 

ara [TIMES] wr. a-ra2 "times (with numbers); ways; way; omen; step (math.)" 

harran [ROUTE] wr. har-ra-an "route, passage; path" Akk. ������; urhu

an

an [SKY] wr. an "sky, heaven; upper; crown (of a tree)" Akk. šamû
an [SPADIX] wr. a2-an; an "date spadix" Akk. sissinnu

aneden

aneden [STEPPE] wr. an-eden "the high steppe" Akk. ����

urin [GUARD] wr. urin "to guard" Akk. ���
��
urin [PURE] wr. urin; u2-ri-in "(to be) pure" Akk. Zakû

aria [STEPPE] wr. a-ri-a "steppe" Akk. harbu; namû

eria [WASTELAND] wr. e2-ri-a; e2-ri "wasteland" Akk. harbu

gara [DESERTED] wr. gar4 "(to be) deserted" Akk. harbuala

an [SKY] wr. an "sky, heaven; upper; crown (of a tree)" Akk. šamû 
gana [FIELD] wr. gana2; gan2-ne2 "field; area (of a geometric figure)" Akk. eqlu 

1- Aran = Duzenlik yer ve ya Step(Steppe)  halinde olan yer.

Aran= Ar+an 

Ar= Aria     

An = An , Gana ve Anden



aria [STEPPE] wr. a-ri-a "steppe" Akk. harbu; namû

eria [WASTELAND] wr. e2-ri-a; e2-ri "wasteland" Akk. harbu

gara [DESERTED] wr. gar4 "(to be) deserted" Akk. harbuala

an [SKY] wr. an "sky, heaven; upper; crown (of a tree)" Akk. šamû 
gana [FIELD] wr. gana2; gan2-ne2 "field; area (of a geometric figure)" Akk. eqlu

ganzer [EARTH] wr. ganzer; ganzer3
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aneden

aneden [STEPPE] wr. an-eden "the high steppe" Akk. ����

2 – Aran = Iki caynan cevrelenen ve mehsur yer .

Aran = Ar  + An 

Ar= Eria ya  Aya

An = An , Gana ve Anden

eria [WASTELAND] wr. e2-ri-a; e2-ri "wasteland" Akk. harbu

aya [SURROUND?] wr. aya4 "to surround?" = Azerice biz buna Ara deyuruk 

an [SKY] wr. an "sky, heaven; upper; crown (of a tree)" Akk. šamû 
gana [FIELD] wr. gana2; gan2-ne2 "field; area (of a geometric figure)" Akk. eqlu 

ganzer [EARTH] wr. ganzer; ganzer3
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aneden

aneden [STEPPE] wr. an-eden "the high steppe" Akk. ����

3- Aran =Batakliklar yeri. Iki Cay ortasi yilin buyuk zamani bataklik da ola biler.

Aran = Ar  + An

Ar= Aya 

An = An , Gana ve Anden



aya [MARSHLAND] wr. aya4 "marshland" Akk. išiktu

an [SKY] wr. an "sky, heaven; upper; crown (of a tree)" Akk. šamû 
gana [FIELD] wr. gana2; gan2-ne2 "field; area (of a geometric figure)" Akk. eqlu 

ganzer [EARTH] wr. ganzer; ganzer3
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aneden

aneden [STEPPE] wr. an-eden "the high steppe" Akk. ����

Tevrat'da biz Aram Padan , Aram Damaskos ve�*��+á+,�+�ØØØ

aria [STEPPE] wr. a-ri-a "steppe" Akk. harbu; namû

arali 
arali [EARTH] wr. a-ra-li; arali; aralix�����������
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arah 
arah [STOREHOUSE] wr. arah4; arah3; arahx(|UŠ.BU.DA|) "storehouse, granary, storeroom; storage 
vessel" Akk. arahhu; našpaku 

AN 
an [SKY] wr. an "sky, heaven; upper; crown (of a tree)" Akk. šamû 
gana [FIELD] wr. gana2; gan2-ne2 "field; area (of a geometric figure)" Akk. eqlu 

ganzer 
ganzer [EARTH] wr. ganzer; ganzer3
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Ara – ar-er sozi azerbaycan yerleri adinda bir yapisdirci gibi islenmisdir.

way
ara [TIMES] wr. a-ra2 "times (with numbers); ways; way; omen; step (math.)"

harran [ROUTE] wr. har-ra-an "route, passage; path" Akk. ������; urhu

Tukrce  Kere : uc kere = uc defe

ara [TIMES] wr. a-ra2 "times (with numbers); ways; way; omen; step (math.)"
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tam
tam [CLEAN] wr. tam; tan2 "(to be) bright; (to be) pure; to purify; (to be) clean" 
Akk. ebbu; �����; zakû

dan
dan [PURE] wr. dan6; dan3; dan4; dan2 "(to be) pure, clear; to clean" Akk. zakû


